Resultados Finales

Criterio de la media

Criterio Individual

Media

Desvio

muestra de | estandar k |Qn-k.S| RDO. T |Qn-T|c|c' RDO RDO. FINAL
p1 muestra (S)
Ejercicio 1 83,18 3,00 0,64 | 82,08 | Cumple] 45 79,5 [1]1 Cumple Aprobado
Ejercicio 2 89,95 7,22 0,64 | 75,88 | Cumple | 45| 76,0 [1[0 Cumple Aprobado
Ejercicio 3 129,30 8,34 0,64 | 114,66 | Cumple | 45| 1155 |[1[ 0 Cumple Aprobado
Ejercicio 4 123,38 2,12 0,64 | 118,65 | Cumple | 45| 1155 [1]0 Cumple Aprobado
Ejercicio 5 131,73 6,18 0,64 | 116,05 | Cumple J 45| 1155 |1[ 0 Cumple Aprobado
Ejercicio 6 121,10 2,91 0,64 | 118,13 | Cumple | 45| 1155 [1| 0 Cumple Aprobado

c' = Cantidad de productos menores a Qn - T




